REVISIONS
REV. DESCRIPTION DATE | INIT.
1 ITEMS ZINC PLATED IN HANGER (ITEM 2) ARE NOW BLACK / 2014-10-071 ET.

8

HANDLE REMOVED

7

»>PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: SLIDING DOOR HARDWARE (SDH)-R0O1 - 72=

[SEE PART LIST]

[SEE PART LIST]

DRAFT ROUGHNESs L29MiN — BREAK SHARP

RADI --- ANGLE: - AVERAGE:  [3.2um] CORNERS / DEBURRS NOMINAL:

IMPERIAL x§<

13.65ks 5.39% - BUNDLE ASSEMBLY € ] ANGLES: £5°  JXX:
4 3

+1/64"
+.010"
+.007"
+.003"

0.40mm
0.25mm

0.18mm
0.08mm

2 1
ITEM DESCRIPTION| QTY. | PAGE
A TRACK (SDH)-72-TB| 1 | 2
B A HANGER (SDH) - STD| 2 | 5
c ADJUSTABLE SPACER (MALE-FEMALE) (SDH)| 4 | 6
D DOOR STOP (SDH)-TB| 2 | 7
E DOOR C GUIDE (SDH) - TB| 1 | 8
F ANTI-JUMP DEVICE (SDH)| 2 | 9
G DOOR HARDWAREKIT| 1 | 10

ALL ITEMS DESIGNATED BY
LETTER MUST BE PROVIDED IN
AN INDIVIDUAL SEALED
PLASTIC BAG

UNFOLD STEEL STATE PARTS
CAN BE DELIVERED AS .dxf
FORMAT FOR CUTTING
PROCESS

2190, 3¢ RUE, SAINT-ROMUALD NOTICES

(QUEBEC) CANADA Géw 6va

= = TOLLFREE: 18004637210 | THIS DRAWING IS AN EXCLUSIVE PROPERTY OF METALLIFER (2009)
E- a I r P dieaeoee LTEE AND IT CAN'T BE DIRECTLY OR INDIRECTLY USED BY OTHER
[ —— MANUFACTURERS AND OTHER INSTITUTIONS WITHOUT A WRITTEN

FAX:
EMALL: INFO@METALLIFER COM
Wes: M

WWW.METALLIFER,COT CONSENT OF METALLIFER (2009) LTEE

emmanueL revseay SLIDING DOOR HARDWARE - 72 - STD - TB

[YEAR-MONTH-DAY]

FRANGOIS DUssauLT | 2014-06-02  1445PSDH72STB-00,R01 B

2 1

1:12 1/10



3/16"

TYP. BOTH ENDS

8 7 6 4 3 2 1
+ J L
L 2 ¢ ]
72"
70 23,333 TYP. 3PL.
[TOTAL LENGTH - 2"/ (NUMBER OF HOLES - 1)]

A // //

" r‘- \\ \\
7 Q. > 0 ©

/7

QD 25/64" TYP. 4PL.
EQUIDISTANT

NOTE:

TO SEAL IN A BAG ALTOGETHER:
. 1x 72" TRACK

~PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: TRACK (SDH)-72 (TROUS EQUIDISTANT)=
3/16" MILD STEEL PLATE, 2"x72"
TEXTURED BLACK COATING

DRAFT rousHNess 2OOKIN - BREAK SHARP
RADIL: ANGLE: AVERAGE [12.5)  CORNERS / DEBURRS NOMINAL: £1/64"
m] IMPERIAL x§< f,g{l)g"
7.66s | 3.45¢ 1 (o= ANGLES: £5°  XXX: +.003"

2190, 3¢ RUE, SAINT-ROMUALD

NOTICES

- - (QUEBEC) CANADA Gow 6va i
TOLLFREE: 18004637210 | THIS DRAWING IS AN EXCLUSIVE PROPERTY OF METALLIFER (2009)
E-ta Illfer P dieaeoee LTEE AND IT CAN'T BE DIRECTLY OR INDIRECTLY USED BY OTHER
—— INFO@METALLIFER.COM MANUFACTURERS AND OTHER INSTITUTIONS WITHOUT A WRITTEN

EMALL |
WEB: WWW.METALLIFER. COM

CONSENT OF METALLIFER (2009) LTEE

0 sgmm TRACK (SDH) - 72 - TB

mm [YEAR-MONTH-DAY]

o amm 2014-06-02  1445PSDH72STB-00,R01 = B | 1:4 2/10
2 1



8 7 é 5 4 3 2 1

REVISIONS ITEM | DESCRIPTION Qry. | PAGE
REV. DESCRIPTION DATE INIT. 17 |HANGER - FRAME (SDH) - T - TB 7 4
ITEMS ZINC PLATED IN HANGER (ITEM 2) ARE NOW BLACK / 10 B
7 HANDLE REMOVED 2014-10-07| E.T. 2 |HANGER - ROLLER (SDH) 7 5
3 |RADIAL BALL BEARING R8-2RS (1 1/8"0.D. x 1/2" I.D. x 5/16" WIDE) 2 -
4 |WASHER OFF-WHITE NYLON 6/6 (0.75"0.D. x 0.5"1.D. x 0.06"WIDE) [McMASTER REF: 90295A187] 2 ---
5 |FRICTION-RESISTANT SHOULDER SCREW 3/8-16UNC x 5/8" LG WITH 21/2" x 1 1/2" LG BODY [McMASTER REF: 91054A460] 7 ---
ﬁ 6 |METRIC WASHER - BLACK (20mm O.D. x 10.5mm 1.D. x 2Zmm WIDE) [McMASTER REF: 90965A200] 7 ---
A 7 |HEX NUT STEEL GRADE 5 - BLACK [McMASTER REF: 91845A031] 7 ---
2" {2 15/32"F—
@278 ﬁ
Y
\
\
i
I 1 ]
\
|
: u 11 7/16"
\
L ||
LY \_|
NOTE:
TO SEAL IN A BAG ALTOGETHER:
. Ix FULLY ASSEMBLED HANGER = PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: HANGER (SDH)-R00-STD~=
R s o NOTICES
e Metallifer o e
TWO ARE REQU/RED FOR THE MASTER K/T [SEE PART L|ST] — E\Web: Wivw METALLIFER Com CONSENT OF METALLIFER (2009) LTEE
125pi
o BAL  SUSIS[3.0um) CORNERS, DEBURRS NOMNAL: e (s HANGER (SDH) - STD - TB
IMPERIAL X £010) mm [YEAR-MONTH-DAY]
2.16s | 0.54k 2 e ANGLES:£5 X0 +008" [0.08mm 2014-06-02 | 1445PSDH72STB-00,R01 = B | 1:2 3/10

8 7 6 5 4 3 2 1



(UNFOLD SHEET STATE)

3/16"—

UP 180° R 11/16"

(77 51/64")

OTHER VIEWS MUST BE PRIORITIZED.

— 7 3/4"—
15 37/64" /\
@ 33/64" THROUGH ALL WALLS
ALIGNED
A1/16"
13/8" o (717 7/16")
g 17 1/4"
8" cC
31/4"CC
o

»>PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: HANGER-FRAME (SDH)-R00—=

3/16" MILD STEEL PLATE
TEXTURED BLACK COATING

DRAFT ROUGHNESS 125[1“1 BREAK SHARP
RADI --- ANGLE: - AVERAGE:  [3.2um] CORNERS / DEBURRS NOMINAL: +1/64"
IMPERIAL x§< 010
1.6 | 0.736 2 FABRICATION © ANGLES: £5° XXX £003"

4 3

O 25/64"
TYP. 2PL.

2190, 3¢ RUE, SAINT-ROMUALD

NOTICES

- - (QUEBEC) CANADA GBW 6V4 i
TOLLFREE: 18004637210 | THIS DRAWING IS AN EXCLUSIVE PROPERTY OF METALLIFER (2009)
E' a I r P dieaeoee LTEE AND IT CAN'T BE DIRECTLY OR INDIRECTLY USED BY OTHER
—

evAL IFOGMETALLFER Cort | MANUFACTURERS AND OTHER INSTITUTIONS WITHOUT A WRITTEN
Wes:

E8: WWW.METALLIFER COM CONSENT OF METALLIFER (2009) LTEE

0.40mm emmanveL remsiar HANGER-FRAME (SDH) - STD - TB

" [0.25mm

0.18mm

[YEAR-MONTH-DAY]

0.08mm FRANGOIS DUssauLT | 2014-06-02  1445PSDH72STB-00,R01 B

1:2  4/10
2 1



1,200
0,890 —
0250
0223
016
25°
— “‘}*
RO,44
( ©2386
l l l l
+0,000
@7,725_a003 | | | | (@7/90)
>>TO BE CONFIRMED \ \ ! [
FORCE-FITTING STEEL BEARING
INTO PLASTIC<< ‘ | | ‘
+0,0710
q

> PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: HANGER-ROLLER (SDH)-R00=

BLACK PP (PLASTIC)

NONE
" DRAFT ROUGHNESS 125[1”1 BREAK SHARP
RADI: 1/64 ANGLE: - AVERAGE:  [3.2um] CORNERS / DEBURRS NOMINA)%:
IMPERIAL X
XX:
0.2 | 0.09 2 FABRICATION e d ANGLES: £.5° 30K
4 3

A-A

2190, 3¢ RUE, SAINT-ROMUALD NOTICES

- - (QUEBEC) CANADA Géw 6va |
TOLLFREE: 18004637210 | THIS DRAWING IS AN EXCLUSIVE PROPERTY OF METALLIFER (2009)
E-ta Illfer P dieaeoee LTEE AND IT CAN'T BE DIRECTLY OR INDIRECTLY USED BY OTHER

EMAIL: INFO@METALLIFER.COM MANUFACTURERS AND OTHER INSTITUTIONS WITHOUT A WRITTEN
— WEB: WWW.METALLIFER COM CONSENT OF METALLIFER (2009) LTEE

ilé?é" 0.40mm EMMANUEL TREMBALY HANGER_ROLLER (SDH)

:: 0.25mm [YEAR-MONTH-DAY]
+.007" [0.18mm

+.003" [0.08mm rrRANGOIs DUssauLT | 2014-06-02 | 1445PSDH72STB-00,R01 B 2:1 5/10
2 1




ADJUSTABLE SPACER FEMALE

Q112"

TAP 3/4-16UNF

(X

R3/32"

7/32"

B-B

ADJUSTABLE SPACER MALE

THREAD 3/4-16UNF x 3/4" LG

J7 1/16"

T AN
— ——X
e —
— ——=
e —
— ——=
— —
— —
— —

; —1

ro

45°

3/4"
FULL THREAD

1)

NOTE:

TO SEAL IN A BAG ALTOGETHER:
e 4x ADJUSTABLE SPACER MALE
4x ADJUSTABLE SPACER FEMALE

. 4x LAG SCREW M8 x 2.8mm x 90mm LG (OR 5/16-9 x 3 1/2"), BLACK (see page 10)
. 4x WASHER M8, 16mm OD x 8.4mm ID x 1.5mm, BLACK (see page 10)

»>PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: ADJUSTABLE SPACER - FEMALE (SDH)-R00=

BLACK PP (PLASTIC)
NONE
DRAFT ROUGHNESS 125uin BREAK SHARP
RADIL; == ANGLE: -~ AVERAGE [3.2HM] CORNERS / DEBURRS NOMINAL: +1/64" [0.40mm]
i ooy i
0.0es ~ Ok | SEE NOTE FABRICATION © ANGLES: £5° XXX +.003" [0.08mm]
4 3

2190, 3¢ RUE, SAINT-ROMUALD NOTICES
) Car %

U GoW 6v4

- - (QUEBEC) CANADA GoW, )
TOLLFREE: 18004637210 | THIS DRAWING IS AN EXCLUSIVE PROPERTY OF METALLIFER (2009)
E- a I r P dieaeoee LTEE AND IT CAN'T BE DIRECTLY OR INDIRECTLY USED BY OTHER
MANUFACTURERS AND OTHER INSTITUTIONS WITHOUT A WRITTEN
—_— £

FAX: 418834
EMALL: INFO@METALLIFER COM
WEB: W

W.METALLIFER COM CONSENT OF METALLIFER (2009) LTEE

emmanue Treveay. ADJUSTABLE SPACER - FEMALE

FRANCOIS DUSSAULT

2

[YEAR-MONTH-DAY]

2014-06-02 | 1445PSDH72STB-00,R01
1

B

2:1 6/10



8 7
(UNFOLD SHEET STATE)
(41/16")
1,64

«o,szﬂ /
q

UP 85° R 1/16"

UP 85° R 1/16"

212"

R1 1/4"

f—

9/64"
10GA

OTHER VIEWS MUST BE PRIORITIZED.

@ 11/32"\ 82°

-|- -|- - = 7/ DRILL 5/32" THROUGH ALL
TYP. 2PL.

5°TYP.
19/16"

NOTE:

TO SEAL IN A BAG ALTOGETHER:
. 1x DOOR C GUIDE

e 2x FLAT HEAD PHILLIPS SOCKET SCREW, #6-9 x 1 1/4" LG, BLACK OXYDE

212"

~PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: DOOR C GUIDE (SDH)-R00~=
GA10 MILD STEEL SHEET

TEXTURED BLACK COATING

DRAFT ROUGHNESs L29MiN — BREAK SHARP

RADI: ANGLE: AVERAGE:_[3.2UM] CORNERS / DEBURRS NOMINAL: +1/64"
IMPERIAL x§< 010
0.36s  0.14 1 © ANGLES: £.5°  XXX: +.003"

2
@ 11/32"
[ THREAD #6-9
(719/64");
w,
I
R1/16"

2190, 3¢ RUE, SAINT-ROMUALD

- - (QUEBEC) CANADA Gow 6va
étallifer
—_— WE:

WWW.METALLIFER. COM

DOOR C GUIDE (SDH) - TB

[YEAR-MONTH-DAY]:

11/4"

NOTICES
THIS DRAWING IS AN EXCLUSIVE PROPERTY OF METALLIFER (2009)
LTEE AND IT CAN'T BE DIRECTLY OR INDIRECTLY USED BY OTHER
MANUFACTURERS AND OTHER INSTITUTIONS WITHOUT A WRITTEN
CONSENT OF METALLIFER (2009) LTEE

2014-06-02 | 1445PSDH72STB-00,R01 | B | 1:1 | 7/10

1



(CUNFOLD SHEET STATE)

DOWN 90°R 1/16"

121/64"

[ "
DOWN 90°R 1/16" (11/327)

%

UP 90° R 1/16"

9/64 J

10GA
OTHER VIEWS MUST BE PRIORITIZED.
NOTE:
TO SEAL IN A BAG ALTOGETHER:
e 2x DOOR STOP-SHORT SLEAVE
e 4XSETSCREW 10-24UNC x 5/16" FLAT POINT
8 7 6

4 15/64"
m (59/64") 13/16"
R25/64"
{21/64")
~— 75/64" 115/16"
37/8"

2 1
3/32" KEY SOCKET
10-24UNC
5/16"

DRILL 0.7495 (NO. 25) THROUGH ALL
TAP 10-24UNC
CHAMFER 1/64" x 45°

R1/16"
A — T
f [ [ |
] ‘
— 7 " fe—
1/4" /
2116 W3

~PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: DOOR STOP (SDH)-Q2-GLISSIERE (SETSCREW)~
10GA MILD STEEL SHEET

TEXTURED BLACK COATING

TYP. BOTH SIDES OF PART

DRAFT ROUGHNESs L29MiN — BREAK SHARP
RADIK ANGLE  AVERAGE [3-2Wm] CORNERS / DEBURRS NOMINAL: +1/64" [0.40mm
IMPERIAL )(i(( fg(l)g:: gi;mm
XX 18mm
0.26s  0.09 2 e d ANGLES: £.5°  XXX: £.003" [0.08mm

R7/76”‘\1

119/32"
11/16"

f
17/32" — Q)
17/64"

—=13/32"

~— 13/16""

7

2190, 3¢ RUE, SAINT-ROMUALD

- - (QUEBEC) CANADA GOW 6vd
TOLL FREE: 1.800.453.7210
PHONE: 418.834.6664
X: 418 834 6665
——

)
EMALL: INFO@METALLIFER COM
WEB: WWW.METALLIFER. COM

DOOR STOP (SDH)

[YEAR-MONTH-DAY]:

2014-06-02 | 1445PSDH72STB-00,R01 ' B

NOTICES
THIS DRAWING IS AN EXCLUSIVE PROPERTY OF METALLIFER (2009)
LTEE AND IT CAN'T BE DIRECTLY OR INDIRECTLY USED BY OTHER
MANUFACTURERS AND OTHER INSTITUTIONS WITHOUT A WRITTEN
CONSENT OF METALLIFER (2009) LTEE

-TB
1:1  8/10
1



@ 11/32"\ 82°
DRILL @ 5/32" THROUGH ALL

@ 11/32" R1

C-C

NOTE:

TO SEAL IN A BAG ALTOGETHER:
e 2xANTI-JUMP DEVICE

e 2x FLAT HEAD PHILLIPS SOCKET SCREW, #6-9 x 1 1/4" LG, BLACK OXYDE

D 11/32"

THREAD #6-9

11/4"

~PLEASE USE THE 3D PART SUBMITTED WITH THIS DRAWING TO PRODUCE: ANTI-JUMP DEVICE (SDH)-OFFCENTERED =
BLACK PP (PLASTIC)

NONE
DRAFT rousHNess L22MiN - BREAK SHARP
RADIL; == ANGLE: -~ AVERAGE [3.2HM] CORNERS / DEBURRS NOMINAL: +1/64" [0.40mm]
IMPERIAL X;(( fg(l)g:: {8%25;"”"%
— XX £ 18mm
0.0s Okg 2 FABRICATION © ANGLES: £5° XXX +.003" [0.08mm]
4 3

9/64"

2190, 3¢ RUE, SAINT-ROMUALD NOTICES
- - (QUEBEC) CANADA GW 6V Sl Lo i
TOLLFREE: 18004637210 | THIS DRAWING IS AN EXCLUSIVE PROPERTY OF METALLIFER (2009)
E. a I r P dieaeoee LTEE AND IT CAN'T BE DIRECTLY OR INDIRECTLY USED BY OTHER
EMAIL: INFO@METALLIFER COM MANUFACTURERS AND OTHER INSTITUTIONS WITHOUT A WRITTEN
—_— WEB: WWW.METALLIFER COM CCONSENT OF METALLIFER (2009) LTEE

emmanvec rremsiay ANTI-JUMP DEVICE (SDH)

[YEAR-MONTH-DAY]

FRANGOIS DUssauLT | 2014-06-02  1445PSDH72STB-00,R01 B 2:1 9/10
2 1



8 7 ) 5 4 3 2 1
TO BE PROVIDED IN THE SAME BAG OF ADJUSTABLE SPACERS (see page 6)

|
D16 | Do
Fa =\
f (S
13 . { ) 17 17
| N/ « 4L
D84
' ; D 105
THREAD M10 x 1.5mm x 9.7mm DEEP MIN.
— 635 * * i
1
[ =1 L[] e LI - T
- I
THREAD M8 x 2.8mm x 90mm 60
THREAD M10 x 1.5mm x 60mm -
90
| 26
76
|
NOTE:
TO SEAL IN A BAG ALTOGETHER:
. 4x HEX CAP SCREW M10 x 1.5mm x 60mm LG GR.8.8, BLACK
. 4x ACORN NUT M10 x 1.5mm x 9.7mm MIN. THREADING, BLACK
. 8x WASHER M 10, 20mm OD x 10.5mm ID x 2mm, BLACK
ERANCES 2150 36 RUE SANTROMUALD NOTICES
ASSORTED STEEL FASTEN ERS o - LQ;JéEfE;?g?N:\SDIJAUES!/7§ZS THIS DRAWING IS AN Excmw OF METALLIFER (2009
bﬂetalllfer B AT b TR ST
[SEE NOTE] ' —_— WEB: WWW.METALLIFER COM CONSENT OF METALLIFER (2009) LTEE
won DL o e DEBURRS Nownis sy odomn)  eumust mevasy DOOR HARDWARE KIT
METRIC X: £010" [0.25mm [YEAR-MONTH-DAY]
1w | 0.45. SEE NOTE FASTENERS DETAIL & ] ANGLES:£.5°  J00¢ +.003" [0.08mm rRancois pussaur | 2014-06-02 | 1445PSDH72STB-00,R01 | B | 1:1 10/10

8 7 6 5 4 3 2 1



	Sheet1
	Vue ISO

	Sheet2
	Drawing View1
	Drawing View3
	Drawing View101

	Sheet3
	Drawing View4
	Drawing View5
	Drawing View7

	Sheet4
	Drawing View70
	Drawing View71
	Drawing View72
	Drawing View73
	Drawing View74

	Sheet5
	Drawing View75
	Drawing View76
	Section View A-A

	Sheet6
	Drawing View16
	Section View B-B
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21

	Sheet7
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82
	Drawing View83
	Drawing View84

	Sheet8
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View34
	Drawing View35
	Drawing View102
	Drawing View103
	Drawing View104
	Drawing View105

	Sheet9
	Drawing View36
	Section View C-C
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41

	Sheet10
	Drawing View85
	Drawing View86
	Drawing View87
	Drawing View88
	Drawing View90
	Drawing View91
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View98
	Drawing View99
	Drawing View100


